Stuff is either mass or energy. All stuff emits a force. 

Mass is a closed standing wave.(loop) Gravity is a fundamental aspect of mass and the force of gravity is proportional to the mass. . All mass attracts other mass via gravity. Mass can have any velocity from zero to near C.

Energy is a transverse open wave(string). Levity is a fundamental aspect of energy and the force of levity is inversely proportional to the speed of energy. Levity repulses all energy. Energy can have a velocity of C to near zero. 

Energy and mass is convertible to each other. The conversion of mass to energy and, vise-versa, energy to mass is continuous. All mass and energy must exist in fixed units related to the translation (motion) of the stuff.  

Mass is convertible to energy and energy is convertible to mass. Gravity is convertible to levity and levity is convertible to gravity. 

What if E=MC2 and L=GC2. Levity would be a force much greater than Gravity, and if Levity is directly convertable to electro-magnetism then it makes sense that electro-magnetism is much stronger than gravity. 

All matter, when energy is added, must, at least temporarily, store the string as loop. If the loop can expand, it expands in place; else it must translate (increase in speed) to make room for the string. During the conversion from energy to mass the electro-magnetism is converted, briefly,  to levity and then almost instantaneously to gravity.

When energy is released by mass, the gravity is converted to levity, the levity is at maximum, and V is at minimum. In, most likely, the smallest amount of time (almost instantaneously), the energy accelerates to C with levity falling to minimum and most likely becoming electro-magnetism. 

Energy, when it encounters mass, will be converted to mass and stored in the standing wave, perhaps stable, or perhaps unstable. To be stable the mass must adapt a motion, increasing in speed or vibration or orbit. The increase in mass will cause the mass’s rate of change (TIME) to slow. The increase in vibration may cause any molecular reactions to increase rate, but the rate of time passage will slow. The addition of mass will increase the mass’s gravity. The levity being converted to gravity.

For instance, an electron may absorb an energy string such as a photon, causing the orbit of the electron to enlarge and slow. If stable, the electron stays in this energized state. Else the electron must re-radiate the energy. The energy had been converted from a string to a loop and stored as mass, but now must be converted back to energy. 

Orbital entities store the added energy in the force field that is holding the object in orbit.

Another instance, the nucleus of an atom absorbs energy, since the nucleus is not expandable, it either must change into another element, or most likely, since it would require an immense amount of energy to create a neutron or proton, adapt a translation, storing the mass in the standing wave. The standing wave, now in translation can expand through space (length increases and of course mass increases). 

As the energy string is stored in the mass loop, the speed of the energy drops from C to the V of the mass. Electron-magnetism is converted to levity. Levity increases to maximum. The levity is converted to gravity. 

When mass releases energy, the loop spawns a string. Immediately, the gravity is converted to levity. Levity repulses so the speed of the string accelerates to C. as the speed approaches C the levity drops to minimum. 

Imagine an incandescent bulb. As light is emitted, it does not pool around the filament. Due to levity, the light repels other light and the light flies off at the velocity C. the levity falls to minimum, and electro-magnetism manifests itself from the levity. The levity is converted to electro-magnetism. 

